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BHHEERNRE SRIB4E 2 S (L A )T ARG (R B R T

£ R g - BIKHiE Bifir % 2 B £ W =
EEIEE 77,420, 232
Fris i () (B R) 77,420, 232
BEYRET 15,997, 298
BET 15,997, 298
Jovy ok 15,997, 298
-1 Jov s BENRAVTRA) (1) =HMB7 nyy 8tE 110. 00 38,270 4,209, 700
&
1-2 Javy o BENRAVTRA) (2) =HIB7 nyy 10tH 188. 00 38,270 7,194,760
&
1-3 Jav o BENRAVTRA) Q) RREYY 6tE 139. 00 33,042 4,592,838
&
HERT 46,577, 491
ERERT 46,577, 491
2R 25, 747, 200
1-4 EEER (1) HAR5~100ke/fERE (&% R) 10~20mKiE 598. 00 8,977 5,368, 246
m3
1-b EBEER (2) HA100~300ke/{EFERE (% HR) 10mkKH 1,098. 00 8,977 9, 856, 746
m3
1-6 EBEER () HA100~300ke /B2 (% A) 10~20mK & 1.184.00 8, 887 10, 522, 208
m3
BARAHL 20, 830, 291
1-7 #ERTH L Oks) (1) +30cm 10mk & 1,670.00 7,813 13,047,710
m2
1-8 #EARTH L Oke) (2) +30cm 10~ 15mK i 695. 00 9,715 6, 751, 925
m2
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£ b R - ARk B H =2 B & # =

1-9 #&ERFHL OkF) 3) +30cm 15~ 20mk & 88.00 11,712 1, 030, 656

m2
#HE - iRET 14, 845, 443
HEIAVI T 14, 845, 443
wEIOY VM 14, 845, 443
1-10 7 avy o &EE&E (1) A hryhr4tE! 359. 00 1,321 474,239

1@
1-11 JavyY&EE (2) fO-2ry-4t 3 165. 00 1,321 217, 965

1@
1-12 708y 7 BRFEMN - KB GBL—&E A Miy)r4tE 401. 00 25,199 10, 104, 799

A (1)

1@

1-13 78 v 7 ERFEM - KE GBL—& fn-2rr-4t3 165. 00 24,536 4,048, 440
A3 (2)

1@
HERSEEFEL) 9, 431, 201
HEREE 9, 431, 201
HEREE 9, 431, 201
=z 9, 258, 401
ReExE 9, 258, 401
1-14 REEEM FRP D 180PS%! 1.00 9, 258, 401 9, 258, 401

=
BirEEE 172, 800
RifrEE 172, 800
1-15 EifTEEE EZAYUTRAEQIR)., #REIRAAT(IIS) 1.00 172, 800 172, 800

%




BHHEERNRE SRIB4E 2 S (L A )T ARG (R B R T

£ g g - BKTE BfL B 2 B i £ =

EEHEE 1,637,363
BIE%HE 1,637,363
TILFE—LBIE 1,637, 363
TILFE—LBIE 1,596, 363
BIEEHE 485, 581
2-1 Bl=%0m 1.00 306, 535 306, 535

=
2-2 HEMEM (1EERY) 1.00 179, 046 179, 046

=
KiRA= 594,932
2-3 BETRAK 1.00 586, 451 586, 451

=
2-4 TILFE—LBIZE 0.01 848, 161 8,481

km2

BE 515, 850
2-5 AIET—4%E 1.00 515, 850 515, 850

=
BEiEEE 41,000
BE 41,000
2-6 ZBHRRSR 1.00 41,000 41, 000

=
B[R 234,731
BIE%H 234,131
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% R R - BARSTiE BfL % 8 B ® # m o=
TILFE—LAE 234,737
EEAGE 227,900
R 227,900
3-1 3RFTERE T — 2 1ERL 1.00 227,900 221,900
BEEEE 6, 837
S 6, 837
3-2 EBHAME 1.00 6, 837 6, 837

=




BHEERER

TSI FEER BB AR PRRE(HRRERTE

% g - AKSTiE Bifr 2 fiff & 8 W =
EEIEE 77, 420, 232
MEIEE 15,485,462 + 21,712, 060 37,197,522
HBREE GDH 9,431,201 + 5,504,578 + 549, 683 15, 485, 462
HBRBE (FEL) 9,431, 201
HBREE (R) 77,420,232 x 1.11% 5,504, 578
BSRERER 77,420,232 x 0.71% 549, 683
RisEEER 92,905,694 x 23.37% 21,712, 060
TR 77,420,232 + 37,197,522 114,617, 754
—REERF 114,617,754 x 15.25% (15.25% x 1.00) — 2,808 17, 476, 399
LR E 114,617,754 x 0.04% 45,847
THilts 114,617,754 + 17,476,399 + 45,847 132, 140, 000
EENEE 1,637,363
HRE 1,637,363 x 80.3% — 2,165 1,312,637
AEEEE 1,637,363 + 1,312,637 2,950, 000
BB E TS 2,950, 000
E R 227,900 + 6,837 234,737
BEEAGE 227,900
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£ g R - KSR B 2 B i & B W =
EERE 6, 837
T DR 227,900 x 53.85% ( 35% =+ (1 — 35%) ) 122,724
SR 234,737 + 122,724 357, 461
—REEES 357,461 x 53.85% ( 35% =+ (1 — 35%) ) — 9,953 182,539
KBS 357,461 + 182,539 540, 000
B EHEAE 132, 140,000 + 2,950,000 + 540, 000 135, 630, 000
HEREELE 135,630,000 x 10.00% 13,563, 000
FEIZRE 149,193, 000
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&5 :1-1
WM JOovoEENRA VSR (1) =RB7 nyy 8tH! 1B%Y (40M@)
2 b g - BIRTE L= vd = B oO(f ® W = " =
EEE M GEfEE) $AD 150t H
B 1.00 935, 000. 00 935,000 6. 00H / 8H
5fia £MD 700PSZEY
B 1.00 222, 805. 00 222,805/2.00H / 8H
Bkt D 180PSE! 3~5tH
B 2.00 182, 705. 00 365, 410 8H
MR =LY
% 0.50 1,523, 215. 00 7,616
& B 1YEZRES - 40. 001& 38, 270. 00 1,530, 831
&5 :1-2
M JOovoEENRA VIR (2) =KB7 nyy 10tH 1B%Y (40M@)
2 b g - BIRTE L= vd = B oO(f ® W = " =
EEE M GEfEE) $AD 150t H
B 1.00 935, 000. 00 935,000 6. 00H / 8H
5fia £WMD 700PS#EY
B 1.00 222, 805. 00 222,805/2.00H / 8H
Bkt D 180PS%E! 3~5tH
B 2.00 182, 705. 00 365, 410 8H
M =3OV
% 0.50 1,523, 215. 00 7,616
& B 1YEZRES - 40. 001& 38, 270. 00 1,530, 831
&5 :1-3
WM JOvIEENRAVIA)B) REAEvYH 6tHE 1B%Y (43(@)
2 b g - BIRTE = v = BHO(f ® 5 W = " =
EEE M GEfEE) $AD 120t H
B 1.00 825, 550. 00 825,5506.00H / 8H
5fia £MD 700PSZEY
B 1.00 222, 805. 00 222,805/2.00H / 8H
Bkt D 180PS%E! 3~5tH
B 2.00 182, 705. 00 365, 410 8H
M =LY
% 0.50 1,413, 765. 00 7,068
& B 1YEZRES - 43. 001@ 33, 042. 00 1,420, 833




Rifiz -/ \v7r—o

BHBEERMEGIAM XK RER TS

514
& BEEER (1) #AE5~100ke/BEFEE (Ei%H) 10~20mEK 1000m3 K1Y
2 b g - BIRTE By H = B 4 ) # " =
BR 5~100kg/{&
m3 1, 300. 00 6, 600. 00 8, 580, 000
Bkt D 180PS%E! 3~5tm
H 1.93 182, 705. 00 352, 620|8H
MR =LY
% 0.50 8,932, 620. 00 44, 663
& i 1EZ%HEH : 1,000.00m 3 8,977.00 8,977,283
5 :1-5
&% BEEER (2) #7A100~300ke/ERRE GEi%H) 10mkK S 1000m 3K Y
2 b g - BIRTE By H = B 4 ) # " =
#Aa #7100~300kg/ 1@
m3 1, 300. 00 6, 600. 00 8, 580, 000
Bkt D 180PS%E! 3~5tm
H 1.93 182, 705. 00 352, 620|8H
M =3OV
% 0.50 8,932, 620. 00 44, 663
& i 1EZ%HEH : 1,000.00m 3 8,977.00 8,977,283
5 :1-6
L EEEE Q) #MH100~300kg/EFRE (Ei%R) 10~20m=kKiH 1000m3H Y
2 b g - BIRTE By o = B 4 ) # " =
#Aa #7100~300kg/ 1@
m3 1, 300. 00 6, 600. 00 8, 580, 000
Bkt D 180PS#E! 3~5tm
H 1.44 182, 705. 00 263, 095|8H
MR =3OV
% 0.50 8, 843, 095. 00 44,215
& i 1EZ%HEH : 1,000.00m 3 8,887.00 8,887,310
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&5 :1-1
&% EAERHL k) (1)

+30cm 10mK i

BHBEERMEGIAM XK RER TS

1HEY (23.5m2)

2 b g - BIRTE L= vd = B oO(f ® % # " =
Bkt D 180PS%E! 3~5tH
B 1.00 182, 705. 00 182, 705 8H
MR =3OV
% 0.50 182, 705. 00 913
& B YEZERES : 23.50m 2 7,813.00 183,618
&5 :1-8
B BERBL OKkE) () +£30cm 10~15mkii 1BH&Y (18.9m2)
2 b g - BIRTE L= vd = B oO(f ® % # " =
Bkt D 180PS%E! 3~5tH
B 1.00 182, 705. 00 182, 705 8H
M =LY
% 0.50 182, 705. 00 913
& B YEZERESN  18.90m 2 9,715.00 183,618
&5 :1-9
L BERBL OKke) 3)  £30cm 15~20mkii 1BH&Y (21.1m2)
2 b g - BIRTE = v = BHO(f ® % # " =
BKEMQABKAX (RE)) D 180PSE! 3~5tH
B 1.00 245, 905. 00 245, 905 8H
MR =3OV
% 0.50 245, 905. 00 1,229
& B YEZEREN - 21.10m 2 11,712.00 247,134
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&5 . 1-10
& JOyVEEN) A MyhratE

TS FEELBECGLA KB RIZE(N R ERTE

1BHY (12408

2 b g - BIRTE X = il ® # " =
SIT7TL—r9L—2 HEHEARRER) GhE i D) 25t/
B 1.00 86, 400. 00 86, 400 8H
LU
A 1.00 23, 500. 00 23, 500
LTEEXE
A 3.00 17,700. 00 53, 100
MR =LY
% 0.50 163, 000. 00 815
& B 1YEZHED ;- 124. 001& 1,321.00 163, 815
&S 1-11
& JOyVEE(2) fo-arv-4tE 1BEY (12448)
2 b g - BIRTE X = il ® # " =
SI7TL—r9L—2 HEHEARRER) GhE i D) 25t/
B 1.00 86, 400. 00 86, 400 8H
LU
A 1.00 23, 500. 00 23, 500
LTEEXS
A 3.00 17,700. 00 53, 100
M =LY
% 0.50 163, 000. 00 815
& B 1EZHED - 124. 001& 1,321.00 163, 815
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&5 :1-12

B8 J0y Y EREM - REGEL—EARX) (1) A Myjr4tE

TS FEELBECGLA KB RIZE(N R ERTE

1BHY @78

2 b g - BIRTE X = il ® W = " =
g L—ftEM 80t A
B 1.00 510, 532. 00 510, 532/6.00H / 8H
5fia D 500PSEY
B 1.00 194, 450. 00 194,450 2. 00H / 8H
Bk D 180PSE! 3~5tH
B 0.80 182, 705. 00 146, 164 8H
LU
A 1.00 23, 500. 00 23, 500
LTEEXE
A 3.00 17,700. 00 53, 100
MR =LY
% 0.50 927, 746. 00 4,638
& B 1YEZRES - 37. 00f@ 25,199. 00 932, 384
&5 . 1-13
& J0y 0 BRIEMS - REBE(CBEL—EAR) (2)  Ho-arv-4tE 1B%Y (384@)
2 b g - BIRTE X = il ® W = " =
g L—ftEM 80t A
B 1.00 510, 532. 00 510, 532/6.00H / 8H
5fia D 500PSEY
B 1.00 194, 450. 00 194,450 2. 00H / 8H
Bk D 180PS%E! 3~5tH
B 0.80 182, 705. 00 146, 164 8H
LU
A 1.00 23, 500. 00 23, 500
LTEEXS
A 3.00 17,700. 00 53, 100
MR =LY
% 0.50 927, 746. 00 4,638
& B 1YEZHES - 38. 001& 24,536. 00 932, 384
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TS FEELBECGLA KB RIZE(N R ERTE

&5 :1-14
2 b g - BIRTE X = B ® W = " =
ZEEEMm FRP D 180PS#Y
B 88. 40 104, 212.00 9,212,340/6.00H / 8H
MR =LY
% 0.50 9,212, 340. 00 46, 061
& B 1E%HeH - 1.00K 9, 258, 401. 00 9, 258, 401
&5 :1-15
&% BMEEE T4 JREQIR. #REHRAE(IE) 14y
2 b g - BIRTE X = B ® W = " =
HitEEE
= 1.00 172, 800. 00 172, 800
& Hi 1E%HeH - 1.00K 172, 800. 00 172, 800
&= 2-1
& AE%RE 14y
2 b g - BIRTE By = B ® 5 W = " =
BIEFEHEM
A 2.00 45, 700. 00 91, 400
RIS HER
A 3.00 40, 000. 00 120, 000
Bl S H A
A 3.00 30, 700. 00 92,100
MR =LY
% 1.00 303, 500. 00 3,035
& B 1YE%HeH - 1.00K 306, 535. 00 306, 535
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TS FEELBECGLA KB RIZE(N R ERTE

&5 :2-2
£ BAMEROEESY) 1LY
2 b g - BIRTE L= vd = B O ® W = " =
BIEWHEE
A 1.00 24, 200. 00 24,200
FSvy 2tiE
B 1.00 28,494. 00 28,494/4.70H / 8H
Jz)—EE
= 1.00 124, 580. 00 124, 580
MR =LY
% 1.00 1717, 274.00 1,772
& B 1E%HeH - 1.00K 179, 046. 00 179, 046
&5 :2-3
B BETRE 1LY
2 b g - BIRTE L= vd = B O ® W = " =
REE S4 kY 2L
B 1.00 3,049.00 3,049/2.00H / 8H
BIEFEHEM
A 1.00 45, 700. 00 45, 700
RIS HER
A 1.50 40, 000. 00 60, 000
Bl S H A
A 1.50 30, 700. 00 46, 050
BEBF
A 1.00 29, 600. 00 29, 600
BIEf FRP D 70PSZE!
B 1.00 46, 446. 00 46, 446 8H
GNSS;BIfI & DGNSS
B 1.00 18, 150. 00 18, 150
TILFE—LBERZEE 36~455kHz
B 1.00 331, 650. 00 331, 650
MR =LY
% 1.00 580, 645. 00 5, 806
& B 1E%HeH 1,00 586, 451. 00 586, 451
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TS FEELBECGLA KB RIZE(N R ERTE

BE 24
Z TILFE—LAE 1BEY (0.75km?2)
2 b g - BIRTE L= vd = B O ® W = " =
REE S4 kY 2L
B 1.00 3,049.00 3,049/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 54, 800. 00 54,800 8H
BIEFEHEM
A 1.00 45, 700. 00 45,700
RIS HER
A 1.00 40, 000. 00 40, 000
Bl S H A
A 1.00 30, 700. 00 30, 700
BEBF
A 0.50 29, 600. 00 14, 800
GNSS;BIfI & DGNSS
B 1.00 22,550. 00 22,550
TILFE—LBERZEH 36~455kHz
B 1.00 412, 050. 00 412, 050
MR =LY
% 2.00 623, 649. 00 12,472
& B EEREN :0.75km2 848, 161. 00 636, 121
&S :2-5
B RFET— 2 EE 1LY
2 b g - BIRTE = v = B Ol ® 5 W = " =
BIEFEHEM
A 3.10 45, 700. 00 141, 670
RIS HER
A 4.10 40, 000. 00 164, 000
Bl S H A
A 6. 20 30, 700. 00 190, 340
MR =LY
% 4.00 496, 010. 00 19, 840
& B 1E%HeH 1,00 515, 850. 00 515, 850




Rifiz -/ \v7r—o

TS FEELBECGLA KB RIZE(N R ERTE

&5 :2-6
2% EBHRRA 1LY
2 b g - BIRTE L= vd = B O ® W = " =
EBHRERERE
= 1.00 41,000. 00 41,000
& Hi 1E%HeH - 1.00K 41,000. 00 41,000
&5 : 3-1
ZFF : SRFT/ET T —FERK s Ep
2 b g - BIRTE L= vd = B O ® W = " =
FEHRAR (F%ET)
A 1.00 57, 400. 00 57, 400
AR (A)
A 1.50 51, 200. 00 76, 800
e (B)
A 1.50 40, 600. 00 60, 900
AR (C)
A 1.00 32, 800. 00 32, 800
& Hi 1E%HED - 1. 005EER 2217, 900. 00 227,900
&5 :3-2
&% EHARE 1LY
2 b g - BIRTE = v = B Ol ® 5 W = " =
EXRARE
= 1.00 6, 837. 00 6, 837
& Hi 1YE%HeH - 1.00K 6, 837. 00 6, 837




